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3epfd Td TA Hr FaEH 3PHR -07

0 000MmDO0MO0 00 M0 00000 000 00000 (0 0mo-07)
T.1 AR -
(31) 60° () 310° (%) 90 (%) 100°
Acute angle is -
(a) 60° (b) 310° (c) 90° (d) 100"

T.2 TS 0 GEAT & THTha FHI07 T AT T FHI07 T A7 @0 -
Measure the following angles with the help of a protactor and.name the angle-

i) i) p
A
C Q B
B
R I P R I S P
Measure ................... Measure...................
ATH e ATH e
Name.....cooooveiieeeieee st Name.......ccooeveeieeiieeeeeee
7.3 1905, , 1907 = o= &Y §EaT 8- (1)
(31) 1904 ()1903 (F) 1906 (%)1908
Number between 1905,.............. , 1907 is -
(a) 1904 (b) 1903 (c) 1906 (d) 1908
T4 3,2,0, 1,4 TF 5 3l FT TINT F< % 7 ITL <A{o0- 2+2+2+=6

(i) Fa9 I &7 a9120 |

(i) 5o FPrer HEAT a2’ |

(iii) AT g FEH TS ST FAH It HEAT AT FAL AT A9 |
Answer the following using the following digits 3,2,0,1,4 and 5

(i) Make the biggest number.

(i) Make the smallest number.

(iii) Find the difference between the biggest and smallest number.

Rough
work/ T®



https://whatsapp.com/channel/0029Va9F9FPJ3juzdBjMqL0H

9.5 fRu o ==t § 3/4 /¥ 1/2 90T FT ST (13-

(i (ii) @
In the figure ,shade the % and % part.
() (i) @

.6 (i) R ==t it g drstra- 2+4=6
Fill in the blanks-
[ 1] ]
1x3 2 _
353 T "o @3 15

(i) SrEATAHT FeT H YAD BIF BT 2 CMhAL AT A8 & | A HeT H 18 B &, dl
JEATUBT DI FHof a1 BTN BT AMaLIHAT BRI ?

Teacher wants to give each student 2 toffees. If in a class there are 18 students, then how
many toffees will the teacher require

Al @ |xs (3Teh—24)

Understanding of basic Mathematical operation (Marks -24)
AT U AT A0 TAT TH 7 37 T 9graar § 82-54 ITH FIIT -

(1) 21 () 28 (7) 23 () 24 ( )
With the help of Ekanyumena Purvena and Param mitra (parammitra ank Sutra, We will

obtain by 82-54 --
(a) 21 (b) 28 (c) 23 (d) 24 (

.8 3T 10 9% o AR g om fifr- (3)
14 x 11
Multiply by Nikhilam sutra on base 10 -

14 x 11
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7.9 (i) TF Tohe H 200 U9 d 8, q7 UH 40 Teohe | Ty O rur 2 3+3=6
If there are 200 pens in a packet, then how many pens will be there in 40 such packets?
T AN ettt e e e e ae e e e e e e e e e e e Shr e e i

(i) TOT T 15 HITIAT 150 T § @& af garsd T T Hid w1 T FATGRI?
Rupa purchased 15 copies for 150 rupees, then find the value of 1'copy.?

ISR R Y 1 TP S SRR S TR PPPPPRP
T.10 T2 HIH TSI HE&AT AT oy, fSEaT 12,36 T 72§ TX-T2T 91T (a7 21 - 6
Find the greatest number which divides 12,36 and 72 exactly.
SRS 2 1 T ST S TSP PP PPPPPPPPP
.11 AT i &1 g Hitory - 2+3+3=8

Solve the following questions-

() @ g¥ o fefe -

Write the missing digits.

(i) 4313, 2432174 173 T TN AT T -
Find.the sum of 4313, 2432 and 173 --

(iii) et T 1 fa=mer e s % agd €.4000 ITH g0 | Tt i fafs graemsi

T

& 2500 @ gl 0| qT TATST, T o I fohd = =93 AT 9 |
A school gets a school facility grant of Rs. 4000 and Rs. 2500 is spent on various
Facilities, then find how much money is left with the school.




HTYT Y a9 (37-25)
Understanding of the Measurement (Marks-25)

T-12 3 u< ¥ fhad fAme gra g ? 1
(1) 60 sz (30) 120 == (7) 240 f=e (7) 180 fMe ( )
How many minutes are there in 3 hours ?
(a) 60 minutes (b) 120 minutes(c) 240 minutes (d) 180 (

T-13 1 12X 500 et ATOH & o e ME § 8 B AT AT ST F9T 2.
1 Sfex 500 AT
&) 1. (F) 800 faeft () 1 1.500 fAeY () 150, +1 . (~ )

Which of the following measures will a shopkeeper use to measure the quantity of
llitre and 500ml?

(a 1L. (b) 800ML. (¢c) 1L.+500 ML (d) 1L+ 1L ( )
TT-14 T €A1 a0t I iy - 1+1+1=3
Fill in the blanks
()120 HEHTET = oo, Hrex
120 centimetres =.............ccovvvennns meters
(ii) HTeT T HEHET H T7aq & o IO A G

(iii) PR e &7 Hiex ¥ agaa o .. IO A G |

To convert kilometer into meter we multiply by .......cccevvenenen.

T7-15 7= 3 T AT GAT A ATET & TR o W Frfore- 1+1+1=3
Match the weights givenbelow with the types of weight units.
CIES qTET FT THL
(i) 3 Frer T 600 AT (31) 5 FR3T + 2 fRT +500 I
(i) 7 eI 500 T (=) 2 T + 2 R +500 ImH+250 ITH
(iii) 4 FReTRIT® 750 ITH () 2 R + 1 &R +500 ImH+100 I
Weight Weight Units
()3 kilogram 600 gram (a) 5 Kg +2 Kg+500 gram
(1) 7 Kilegram 500 gram (b) 2 Kg+2 Kg+500 gram+250 gram
(111)+4 Kilogram 750 gram (c) 2 Kg+1 Kg+500 gram+100 gram

TT-16 T AL, FleT | gHT 7 8 FeT T 40 & 25 TH Ifq e #r 22 &, 3 forur <21 60 =, i
Frfrg 240w R T F I @ s 0w s afEfa
428 T faAT®h: 18.01.2024 F1 @LIaT | 3% Aradt &7 faer a2 | 3

Hema purchased 8 litre of milk at the rate 40 rupees 25 paisa per litre,3 litre of curd at the rate
of 60 rupees per litre, 2 kg of ghee at the rate of 450 rupees per kg and 5 litres of buttermilk at
the rate of 20 rupees 75 paisa from Milk dairy, Kota. Bill number 428, date 18/01/2024.
Prepare a bill of above information.
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TT-17 (i) FeT20- 12 5 18 e H & 9 =< 16 fAwe | 1+2=3

Subtract- 9 Hours 16 minutes from 12 Hours 18 minutes.

ii) ST T - 9.5 16 e, 8 =e 50 e 3w 7 = 45 e |

Do Addition =9 Hours 16 minutes, 8 Hours 50 minutes and 7Hours 45 minutes.

T7-18 o1 At & 2 fowum arredt, 3 o 2T, 3 fwum 700 97w et sfiw 2 R 500 I
ot Ediadt 8 | It It # 7% 9 S e 1+1+1=3

(i) ST T Fooet =7 et AT FAT T 2




(ii) TaH FH TTL ATAT Foo(l HIAET g ?

(iiiyTaEr STTersh ATE ATSAT Fasil hIAHT g ?
Anu brought 2 kg cauliflower, 3 kg cucumber, 3 kg 700 grams potatoes and 2 kg 500
grams lady finger. Find the following weight in her bag-

(1) What is the total weight of potato and ladyfinger?
(i1)) Which vegetable is of lowest weight?
(ii1)) Which vegetable is of highest weight?

T7-19 FRefertad Wi &1 g Hiforu- 4+4=8
Solve the following questions-

(i) T AFATHRE HaTT &l a¥aTs 20 Hiew T A2 30 Hie 2l
T ZH HETT FT SFAFA T o0 |
The length of a rectangular ground is 20 meter and width is 30 meters. Find the area
of ground.
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(i) Find the perimeter of the given figure.

& T RIS T TRATT AT FIfrT |

é'a& =X \%g/cw:
2 &Gtk 4—3‘9— £
S50 5ﬁfc.\m
@)

o &att v

HTFEST FT TI=aT UF G2 T THA 8 3
Understanding data handling and patterns (Marks-8)

9-20 o3 U G F1 s B gn- 1

The next figure of the given pattern is-

i j — —PQ ™ Y\, .
(A) (B) G

©) (D)
: ( )
T7-21 & T Tawd &7 ST 98 gHIT- 1
25,30,40,55,.................
@ .70 () 80 (T 75 (?) 65 ( )
The next figure of the given patter is-
25,30,40,55,....ccccuuee..
(a) 70 (b) 80 @) 75 () 65 ( )
TT-22 (i) T LT 918 2024 F T & SIqae ATqATa & Faei & aredr gl e a1l
SRl T HeAT A= arfershl § «f T2 g- 6
& AR | FNEaR | 96917 | AR | gFaR | 9Far
ATATATT % A=t it areaT T8l 3 5 7 10 6 4
Tl ATHRIT AT HE&AT

I ATHST T QU T ITE § TTET AT (TS ATE) TAT2T |




The number of people not following Traffic rules per day in Road safety week 2024 is given
in the table below

Day Monday | Tuesday | Wednesday | Thursday | Friday | Saturday
Number of people not 3 5 7 10 6 4
following Traffic rules.

Draw a bar graph of the above datas.

\0‘
T AT @ gU T &1 ITAN 64T a7 g | 713 U 979+ 6 i
H AT T 6 T AT STANT fohaet faT T T S7 Fehar 8 2

sed in the School keeping in mind the cleanliness. If a soap lasts for 6 days then, for
days can the 6 soap taken to school be used?







